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QUESTION 1

Which network tool cloud an administrator use on an ESXi 7 host to capture packets when troubleshooting connectivity
issues?

A. Wireshark

B. pktcap-uw

C. net-stats

D. tcpdump
Correct Answer: B

Explanation: If you do when troubleshooting connectivity issues on your Virtualization environment. This post will help
you to capture Network traffic on ESXi host using pktcap-uw tool.

QUESTION 2

Which three can an administrator define in a transport node profile? (Choose three.)
A. Logical Router

B. Segment Profile

C. Segment

D. Uplink Profile

E. VDS switch configuration

F. N-VDS switch configuration

Correct Answer: DEF

QUESTION 3

Which two statements are true for a Tier-1 Gateway? (Choose two.)
A. owned and configured by the Tenant

B. connects to physical networks

C. owned and configured by Service Provider

D. always configured in active-standby mode

E. supports ECMP

Correct Answer: BD
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QUESTION 4

An NSX administrator is creating a NAT rule on a Tier-0 Gateway configured in active- standby high availability mode.
Which two NAT rule types are supported for this configuration? (Choose two.)

A. Port NAT

B. Source NAT

C. Destination NAT

D. 1:1 NAT

E. Reflexive NAT

Correct Answer: BC

QUESTION 5

An administrator has a requirement to have consistent policy configuration and enforcement across NSXT instances.
What feature of NSX-T Data Center fulfills this requirement?

A. Load balancer

B. Policy-driven configuration
C. Multi-hypervisor support
D. Federation

Correct Answer: B
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